Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
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Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1

Ans 1. 108
2. 119
3117
4.120

Q.2 Select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is
related to the third number-letter cluster, and the second number-letter cluster is related to the first number-letter cluster.
COMPLETE : COTEMPLE :: POSITION : POONSITI :: TROPICAL : ?

Ans 1. TRALOPCI
2. TRLAOPIC

3. TRALPOIC

« 4 TRALOPIC

Q.3
Ans 1. Weither conclusion I nor IT follows
2.
3.
4
Q4
Ans 1. 42
2. 50
3. 41

74 40




Q.5

Ans

1. 9x3+8+4-7=30

2 11+-12*6+-8-10=25
3 23-20+35+2x10=10

4 32+3-12+-18x9=10

Q.6

Ans

RI/INS
W=




Q.7

Ans

& 1.




Q.8

Ans

Q.9  Which of the following groups of letters when sequentially placed from left to right will complete the given series?

mnopmnop_nop_nopm_o_

Ans 1. oonp
& 2. mmnp
3. nnop
4. mnmn
Q.10
Ans 1.
2.

3. ODAF : GKLN
4 PORU : ZZOU




QN

Ans

Q.12

Ans 1 WB
2 PR
3. WX
4 NQ

Q.13 Pointing towards a photo of a girl, Rakhi said, “She is daughter of my husband’s wife”. How is the girl related to Rakhi?

Ans «" 1. Daughter
2. Sister
3. Mother

4. Father's mother




Q.14

ns 1. X
. /QQ,

¢3. 3
Q.15
Ans « 1. Red
2. Purple
3. Yellow
4. Qreen
Q.16

Ans 12133129
2. 2144129

3. 2145129

4 2144139

Q.17

Ans 1. Aﬂ-u‘j
+ 2. Bheem

3. Imran

4. Dheer




Q18 1p the following question, select the missing number from the given series.

75, 77, 81, 89, 105, ?

Ans 1. 144
2 137
3. 130
4. 140
Q.19

Ans 1.5 1,3,4,2
2.5,4,3,2,1
3.5,4,3,1,2

4 52,3, 1,4

Q.20
Ans 1. 118

2. 129

3. 120

« 4 115

Q1 The Eighth five year plan was finally launched in after the initiation of structural adjustment policies.
Ans 1. 1992

2. 1989

3. 1991

41990
Q2 1 a capitalist society the goods produced are distributed among people
Ans 1.

2. on the basis of what people need and on the basis of Purchasing Power

3.

+ 4. not on the basis of what people need but on the basis of Purchasing Power




Q.3

India became the winner of the Cricket World Cup for the first time in:

Ans 1. 1983
2. 1981
3. 1999
4. 1975
Q4
Ans 1. 4
2. 5§
3 2
4 3
Q5 Which of the following articles of the Indian Constitution deals with the Indian Parliament?
Ans 1. 40-70
2. 12-40
3. 79-122
4. 1-12
Q.6
Ans 1. 74
2. 54
3. 44
4 64
Q7
Ans v a
2. Only A
3.
4. Only B
Qs
Ans

1. Neither I nor II
2. Only I
3. Only II

+ 4 BothI and II




Q.9

Which of the following articles of Indian Constitution is related to the Fundamental Duties?

Ans 1.
« 2. Article S1A
3. Article 50
4. Article 49
Q.10
Ans o 1.
2
3.
4,
Q.11
Ans 1. Matki dance
2. Mundari
3. Rouf
4. Bhagoria
Q.12 is a state or condition in which an individual or community lacks the financial resources and essentials for a
minimum standard of living.
Ans 1
« 2. Poverty
3. Unethical
4. Illiteracy
Q13 Who coined the term "Evergreen Revolution' to increase agriculture production in India?
Ans 1.
2
3. R.VRao
o 4.
Q14 In which year was the first edition of the Indian Premier I_eague (IPL) cricket tournament held?
Ans

12015
2. 2003
3. 2008
4. 2018




Q15 Who among the following was associated with the Young Bengal Movement?

Ans f 1.
2.

3.

4.

Q.16 In May 2023, Praveen Sood, the Director General of Police in Karnataka, has been appointed as the next director of the

Ans 1.
2
3. CRPF
4 FBI
Q.17
Ans 1. Goa
2
3. Bihar
&4
Q.18

Ans 1. Haryana
2. Bihar
« 3. Maharashtra

Q.19

Ans 1. Nagaland
2. Manipur
3. Assam

4. Mizoram

Q.20

Ans 1.

2
3
4. S.V. Rajarao

Section : Part-C-Elementary Mathematics




Q1

Ans

1. 93
2 23 %36

3. 93 %33

4. 93 5 33

Q.2

Ans

Suresh sells a car at the loss of 36 percent. What will be the ratio of cost price to selling price?

1.16:25

2. 15:16
3 25:16

4. 4:5

Q.3

Ans

1. 30%
2. 25%
3. 15%
« 4 20%

Q.4

Ans

Find the sum required to earn a monthly interest of ¥ 350 at 7% per annum at simple interest.
1. % 50,000

« 2. 760,000
3. 265,000
4. ¥ 55,000

Q.5

Ans

115 min
2. 10 min

« 4. 6 min

Q.6

Ans

1. 18.3%
2. 15.2%
3. 13.0%
4 13.4%




Q.7

Ans 1 450 km
2. 480 km
3. 410 km
4. 460 km
Q.8  The difference between the compound interest (compounding half yearly) for 1 year and the simple interest for 1 year
on a certain sum lent out at the annual rate of 30 percent is Rs. 337.5. What is the sum?
Ans 1. Rs. 15000
2. Rs. 18500
3. Rs. 17000
4. Rs. 17700
Q.9
Ans 1. 30 days
2. 45 days
3. 35 days
4. 40 days
Q.10
Ans 1. Rs. 600
2. Rs. 450
« 3. Rs. 400
4. Rs. 550
QN
Ans 1. 7
2 3
3.2
4. 4
Q12 The diameter of a hemisphere is 21 cm. What is the total surface area of the hemisphere?
A
™ 112385 em?
2 790.5 cm?
3 980.5 cm’

¥4 1039.5 cm?




Q.13

Ans 1.5:4:3
2. 5:4:1
3. 7:5:4
4 9:3:1
Q.14 Average of five numbers is 36. The average of first two numbers is 1.5 times of the average of last three numbers. What
is the sum of first two numbers?
Ans 1. 85
2. 79
3. 78
& 4. 90
Q.15 The difference between cost price and selling price is Rs. 132. If profit percentage is 20 percent, then what is the selling
price?
Ans 1. Rs. 760
2. Rs. 822
3. Rs. 802
4 Rs. 792
Q16 Aman can do a work in 28 days. What part of the total work can be done by Aman in § days?
Ans 1. 3/8
2. 47
& 3. 2/7
4. 3/7
Q.17
Ans 1. $14.6
2. §17.5
3. 5193
4 $13.8
@"® " What is the value of 1/0.000081?
Ans 1. 0.9
+ 2.0.009
3. 0.09
4. 99
Q19 1fRs.70.000 is distributed among A, B, and C such that A:B = 2:3 and B:C = 4:5. then find the share of A.
Ans

1. Rs. 18,500
2. Rs. 14,500
3. Rs. 15,800

« 4 Rs. 16,000




Q.20
Ans 1. 37
2. 33
3 31
4. 32
Q.1
Ans 1
« 2. (Gauge
3. Propel

4. Deviation

Q.2
Ans 1. Hail
2. Taunt
3. Dignified
+ 4 Hidden
Q3
Ans 1
2. No error
3.
o 4.
Q4
Ans 1
2,
3.




Q.5

Ans 1. Important
2. Pet
3. Dear
« 4. Defective
Q6
Ans 1. Persuade
2. Beguile
« 3. Agree
4. Nitpick
Q.7
Ans o 1.
2
3.
4. No Improvement
Q8 Select the sentence with no spelling errors.
Ans 1. The sick woman had raised herself upright. and was stretching her arms tuwards them.
2. The sick woman had raised herself uprite, and was stretching her arms towards them.
+ 3. The sick woman had raised herself upright, and was stretching her arms towards them.
4,
Q.9  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
Employees are working from home and shoppers are ordering groceries online to minimize time in crowded spaces.
Ans

« 1. No error

2.

3.




Q.10

Ans 1. an important
« 2. ataxing
3.
4. asevere
Q.11
Ans 1. Hush
2. Wow
« 3. Buckup
4. Oh
Q.12
Ans 1.
2.
3.
4.
Q13 Select the incorrectly spelt word from the given sentence.
The cats have the propensity to divour their babies if alarmed and so require a calm environment for breeding.
Ans 1.
« 2. divour
3. alarmed
4.
Q.14
Ans 1
& 2.
3.




Q.15

Ans 1. No error
2

o 3
4.

Comprehension:

SubQuestion No : 16
Q.16

Ans 1.
2. plot
3. layout

« 4. premises

Comprehension:

SubQuestion No : 17
Q.17

Ans 1. ].ight
2. Park
3. circle

« 4. rounds




Comprehension:

SubQuestion No : 18
Q.18
Ans 1. smoke
2. air
3. water
4. ﬁre

Comprehension:

SubQuestion No : 19

Q.19
Ans 1. subject
2. amazement
& 3. alarm
4. anxiety
Comprehension:
SubQuestion No : 20
Q.20

Ans 1. gensitive
2,

3. lofty

4. rigorous

Section : Part-D-Hindi




Q1

Ans

Fafof@d 9o #, a1 Reedr # ¥, 38 FFey &1 7w & o e we & e a@@r goaer & amer
ICET= I
FH IEd-gd F Ty T TR

1. fAarg

2. oTEHT
3 g

4 T

Q.2

Ans

=TT Tod #, 9) T5eal § ¥, 39 Tar Fcq & T390 FL 3 It F &7 oF o6 #7
IEETl
9T AddS e arer

v 1. zaredt
2. jqé’r
3. TS
4 qrATet

Q.3

Ans

fw ow a=w F 97 g9 A9 =, TEE #w IR IR Fw et S w3 A8
#F omr FAT Ige ¥ Ri¥Ea = @

g

2 uger ® AT

3. =hY TET 2AT|

v 4 & g FLET

Q.4

Ans

faw e fas el # 9 i fadbed Y ad-il aret &, Safd TP 2 ad-1 a1en 81 39 37K dai-il arel fdbed 1
G B

. SO 3UST T Ay 82
2 SR Y g ol §e HT ¢ |
3 B Bl g2

4 SHAAS ] 1 7d |

Q.5

FafefEd uy H, IR fadedl d 9, 39 [ddbed &1 98- & ofl 1 715, dlobifd &1 gel o1 aran fased g
IRe T i WP i G a8

. Ol 9% BT AT ST del 3wl

2 o §1 g TST Il &

3. Td1 4 gl 3R O 9 @
v 4 U 9 U & o fa S gl §id §




Q.6

Ans

T =1 arer # 3T THErE woeg F 9w w6 e T & 9fa w1
oY agar $r gradf & (stefrerdy) g1

" fRIge

2. GRU]

v fgRierd
4 ol

Q.7

Ans

f&U 7Y a1 § Ifed ugigare Wse &1 99+ dHdh ¥ R &I gfd H1 |

QU DI (HYST) S0 HI FHT H g Ul
- quiq
2. fﬂq

3. 01
4 3

Q.8

Ans

f&u 71q arery  Yaifohd 2eg &1 [da Qse 31 Iy

HR Id 81 99 33 T
I 3fHTRIY
2. W

& 3. @ﬁ'g{
4. PHId

Q.9

Ans

fraferad Uy 7, lGU U R fadhedl # 9, 39 fdded o1 9a+ & off [GT 0 HgTae & 312 o] a9y T 9 Had
Rl g

OTT &1 A8 TeTT
I IR BT

v 2. e G DRl
3 B A g
4 TR S BT




Q.10

Ans

faraTo e 99 &, I &edl # ¥, 38 Tar [9%eT F7 99 F{ i IAeT & 0T Teh e & aed
gl
oo e gor & @ifs F67 &

QN

Ans

frafafEe aeg A, 35 aeary & gerfav S At @ @efa aegfear 8 of 18 o 767 2
ar wE g T B F FAE Hie|
ST TG GE & A F HGY FA FG AT 589 gas H o TErEar H AR FE A T

1. r 7T FET FAT ART
2 FAT IEHT TEI & &l F HEI

v HAT AT AAA FHH GEL H o FETEAT
o

Q.12

Ans

f&T 1T gy © Ied CRIoI-[c=IST R1sg &1 98+ HReh (Rad I &1 gfd Bifo |
FASA S AU R

- SRR

2. BId

3 dRIg
4 3gldd

Q.13

Ans

AATET 92 H, I [SFcar # ¥, 37 Tel [9FeT F1 909 FT Fr I F 0w vF oa=g F TFeT
arl
for @ 919 7=

I AT
« 3. AIIEHEIS
4. AFERYET

Q.14

Ans

ToT 99T &, IR FFear & ¥, 39 BFeT 1 999 #{ 37 FrvaF # BT 71v =g & g9c8F &9 &
T T T

ﬁi’m#mﬁwagr—r?rﬁa?(a?n E?‘Frgé

gl

I HEw
2. ¥{d
3. gg

v 4 gfeer




Q15 7 T e FT A e AT RS

]
Ans a-r-i
2. qeRTer
3. 3T

4 gfrgetar

Comprehension:

i U T e ¥ 5% Wes BiS 38U U, U effwia & U IR fdded fAT U § 1 59 i i AMyded ug
3R AR el H U Falad IR aral f[dded g1

211 ¥ Sgdh) BIg arbd ol oil o | AT AT &I RfE[d iR seF kil g1 e 59 & oHfdia o
YHRIAD URacH ardl ¢ | g &9a1 § 3R 9RaR & AU AR &R Gehdl o | dedl AR dod! Uh
RIER & | U blg i Ta1 ol wrsfcbdl =8l & Uhcll §1 g oivlel AR &1 H dsidhdl | dshl &l gal # U
HUDI__ Giied fhan g1 <=1 &1 wrgul 39 & e fora wred! &1 Rifé 8T offawad 8, 3o asiddl &l
fRIfErd ST TRt 1 SR TR Tet U g arsfdhal & off 3o+t gfaemy ok gerawR fRuod, df Isal dl e, &
Uh TSl TS TRI1E icll | Tsidal Hoidhel fRIfeid 81 361 81 TSipdi F IGATe R TS AR WH S IY
B PR ! o | DD AN GURRI H HIH R I8! 6 R 9R HI GHIE W6l § | asiadl I 377d UgH &1 g BI-l
TR A 81 e URAR ASDI bl ol I §Iud GHSId &, R R $I_____ dl asfbal  Higidl g1

SubQuestion No : 16

T e e @ R oiR SO TR
Ans o 1. _‘H"]'q
2 3R

3. e gl
4 G




Comprehension:
i foU TR T 7 59 e BIS 6l Y €, Udd Swa & 9 IR [dded AU T § | 59 i Sl AFYdS ue
AR AR fdaedl 7 U Falo IR aral f[dded g1

fRI&T T TEHL IS didbd Tel ekl & | ReTrg ol AT ek SaF T 31 e a9 & ofdaa o
HHRIEAS giaa ardl o FRIEd i 91 ¢ ¢k IRaR & o ASHIR = Gl g | ASHI 3R dsH! Uh
SRIER & | Ul Bl dIo Ag! ol ASibal gl bR abdll g | g oiTal MR &Fl H Tsihal 4 asdl &I g # 3o
AUBl _ ifed fopan g | =1 1 wegul IAfd o oY fS7a-1 ds ! ol fRE gIF1 sfia<de ¢ , 31 asidal &l
fRIfard g1 SRedl 81 3R Ugd U 9 &l asfdal i +ff 3a-1 gfaunt ofik geawm feu ord, @ ds! &l )g, &
U sl Al Rférd gidh asfaa sciad Rfga W g1 asfhui s ubaug Ras AR @H & Oy
ST TR I8! ¢ DG A GHRRI H HH R Wl § AR =R W T B g1 AsiBdl I 3 Ue &I 66 Sl
TR TTEd g1 $& UNAR TSI I ol I AUh YA 6, R RSBl dl Tsidbdl 9 i il B

SubQuestion No : 17

T fifer safd ST § 2R TRAR & faTg IASHIR B2 Tahell 2|
Ans 1 T_\ ﬁ a
2. Uglp
v fSER
4. dg]
Comprehension:
i fou TR e A $© e SIS el MU, Udd e & I IR fddbed fAU T § | 59 M9 &I AHyded ue
3R AR [daedl 7 U Fdlod IR aral f[dded gH|
fR1&fT ¥ SgdhR BIg aldbd ol aldl o | RIETHTE Sl R AR S9F a1 e 9% & Afdda o
GHRIHD YRaa- arcl ¢ | Riférd sfdd G0 & 3R URAR & e ASHTR &R Gahall ¢ | TSHI 3R ASH! Udh
SRIER & | Ul Bl I Ag! ol ASIbal gl bR Wabdll | g GiTgl MR &l H asihal | asHl i g # g
TSI ifed faran g | =1 1 wvgul JAfd & oY fSTa1 dsa! ol RIfEd 1M1 sa<de ¢, 3a-1 asiddl &l
FRIfard ST el 81 3R Jed Tl U g1 asfddl &l Hi 3a+1 YAy 3R YofawR [SU oI, @ d8d! &1 R, &
U A Aol fRféra gich | arsfaat smoisa Riféd g1 3 81 asfhal $3 uhd ue W9 3R @ & T
DH TR TG § | HHGN At GRRI H HH B TG § 2R TR H THIA Wl 5 | TSihdl U 377 U DI g Bl
WRR WA 8| T URAR SH! &I $A & G1Us GHAD 8, IR R &I I wrsfesal O Hi gl 2
SubQuestion No : 18
Q.18 3 el iR & ® wsfral 7 as®! @) T & 3ruA B! ifed frar g1
Ans & 1. a_E:?R_
2. ¥
AR

4.1:|ﬁ‘q:[|f




Comprehension:
1 foU TR T § 59 Wea BIS 6l U €, Udd Awe & I IR [dded AU T § | 59 iR Sl AFYdS ue
3R TR fadedl 1 ¥ 9akaw 3R ardl [dded I |

fRI&T ¥ TEHL D13 aidbd Tel enil ¢ | ReTrga ol Rfgd iR SOF s 31 e a9w & &fdaa o
HHRIEAS giaa ardl o FRIEd i 91 ¢ ¢k IRaR & o ASHIR = Gl g | ASHI 3R dsH! Uh
SRIER & | Ul Bl dIo Ag! ol ASibal gl bR abdll g | g oiTal MR &Fl H Tsihal 4 asdl &I g # 3o
AUBl _ ifed fopan g | =1 1 wegul IAfd & oY fS7a-1 ds ! ol fRATE gIF1 Sfa<des ¢ , 31 asidal &l
fRIfard g1 oRedl 81 9 R Ugd U 9 &l asfdal @i +ff 3a1t gfaunt ofik geawR fau ord, @ ds! &l )g, &
U sl Al Rférd gidh asfaa sciad Rfga W g1 asfhui s ubaug Ras AR @H & Oy
ST TR I8! ¢ DG A GHRRI H HH R Wl § AR =R W T B g1 AsiBdl I 3 Ue &I 66 Sl
TR TTEd g1 $& UNAR TSI I ol I AUh YA 6, R RSBl dl Tsidbdl 9 i il B

SubQuestion No : 19

ASihal P Uhd Ug R do 3R T & 91y HH B el gl
Ans 1 t‘ﬁ

Q.19

Comprehension:
< U T el W B W B 16U U €, U wsa & O IR [ased QU AU § | 5 el &l HFYdds U
3R AR [daedl # U FaloH IR aral [dded g1

18T ¥ SgaR BIs aidhd Tl el o | R S RfEd iR SoF e 81 e 79w & Afdaa o
FHRIAD URaa @l g | fga=afdd . o7a1 8 °iR IRaR & [T ASHIR IR Fobodl | TS H1 AR ASHI Th
SRIER & | U Bl 1o 81 Sl Orsfdhdl 718l &= Wobdll §| g ol AR &= H asihal | asa! &I garl # 210+
AUHl_ qifed faea 31 &1 1 ol Iafd & g a1 dsa! o RIfé 8191 oa<deds ¢, 301 asiddl &l
fRifard giFT oRedl 81 oFR Ugdl wel O €1 arsfaal &f 1t Sa1 9faund ok e fRu o, df asal &l e, &
Ush sl 1o Rifdrd gich | asfear seie Riféd 81361 &1 asfbdi ds ghauc Ras AR WH & 9y
ST IR TE! ¢ | DG A THRRI H B PR IE1 ¢ AR TR H T & 8 | dsihal d Id U BT g B
TR e g1 $& URAR TSh I ol I A0S G S, R IR B Al Tsiddl 9 i gl B

SubQuestion No : 20

** TEURAR TSH! P H HI ATF YRR T, FR R I dl dsfddl I i gidl ¢
Ans 1 W






